
Complexity of concept satisfiability problem w.r.t. empty TBox
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Complexity of concept satisfiability problem w.r.t. general TBox

�
 �	ALC

�
 �	ALCO
�
 �	ALCI�
 �	ALCF

�
 �	ALCN

�
 �	ALCQ

�
 �	ALCFO

�
 �	ALCNO

�
 �	ALCQO �
 �	ALCFI

�
 �	ALCNI

�
 �	ALCQI�
 �	ALCIO

�
 �	ALCFIO

�
 �	ALCNIO

�
 �	ALCQIO

@
@

@
@
@
@I

�
�
�
�
�
��

�
�
�
�
�
��

@
@

@
@

@
@I

@
@

@
@
@
@I

@
@

@
@
@
@I

@
@

@
@
@
@I

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

@
@

@
@

@
@I

@
@

@
@

@
@I

@
@

@
@

@
@I

6

6

6 6

ACL ⊆ L ⊆ ALCQIO

NExpTime

ExpTime

�
 �	S

�
 �	SO
�
 �	SI�
 �	SF

�
 �	SN

�
 �	SQ

�
 �	SOF

�
 �	SON

�
 �	SOQ �
 �	SIF

�
 �	SIN

�
 �	SIQ�
 �	SIO

�
 �	SOIF

�
 �	SOIN

�
 �	SOIQ

@
@

@
@
@
@I

�
�
�
�
�
��

�
�
�
�
�
��

@
@

@
@

@
@I

@
@

@
@
@
@I

@
@

@
@
@
@I

@
@

@
@
@
@I

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

@
@

@
@

@
@I

@
@

@
@

@
@I

@
@

@
@

@
@I

6

6

6 6

S ⊆ L ⊆ SOIQ

NExpTime

ExpTime

�
 �	SH

�
 �	SHO
�
 �	SHI�
 �	SHF

�
 �	SHN

�
 �	SHQ

�
 �	SHOF

�
 �	SHON

�
 �	SHOQ �
 �	SHIF

�
 �	SHIN

�
 �	SHIQ�
 �	SHIO

�
 �	SHOIF

�
 �	SHOIN

�
 �	SHOIQ

@
@

@
@
@
@I

�
�
�
�
�
��

�
�
�
�
�
��

@
@

@
@

@
@I

@
@

@
@
@
@I

@
@

@
@
@
@I

@
@

@
@
@
@I

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

�
�
�
�
�
��

@
@

@
@

@
@I

@
@

@
@

@
@I

@
@

@
@

@
@I

6

6

6 6

SH ⊆ L ⊆ SHOIQ

NExpTime

ExpTime

3



Complexity of ABox consistency problem w.r.t. empty TBox
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Complexity of ABox consistency problem w.r.t. acyclic TBox
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